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NDA  
 

 

1. The binary number 1101101+1011011 

is written in decimal system as. 

(A) 198    (B) 199    (C) 200     (D) 201 

2. What is log (  √    ) + log 

.
 

  √    
/ equal to ? 

(A) 1   (B) 0 

(C) 2   (D) 1/2 
3. The relation R = {(1, 1), (2, 2), (3, 3), 

(1, 2), (2, 3),(1, 3)} on a set A = {1, 2, 

3} is.  

(A) reflexive, transitive but not sym-

metric.    

(B) reflexive, symmetric but not trans-

itive. 

(C) symmetric, transitive but not refl-

exive    

(D) reflexive but neither symmetric nor 

transitive 

4. In an examination out of 100 students, 

75 passed in English, 60 passed in 

Mathematics and 45 passed in both 

English and Mathematics. What is the 

number of students passed in exactly 

one of the two subjects ? 

(A) 45   (B) 60    (C) 75    (D) 90 

5. What is the value of  

.
  √ 

   √ 
/
   

+.
  √ 

  √ 
/
   

+ 1? 

(A) -1    (B) 0       (C) 1 (D) 2 

6. If the equations    + kx + 64 = 0 and 

  - 8x + k = 0 have real roots, then 

what is the value of k ?  

(A) 4      (B) 8      (C) 12       (D) 16 

7. What is the 10th common term 

between the series 2 + 6 + 10 +..... and 

1 + 6 + 11 +......? 

(A) 180    (B) 186    (C) 196   (D) 206 

8. How many integers between 1000 and 

10000 have no digits other than 4,5 6 ? 

(A) 91  (B) 51 

(C) 81  (D) 71 

 

1- f}vk/kkjh la[;k 1101101 $ 1011011 dks 

n'keyo i)fr esa fy[kk tk;sxkA 

 (A) 198   (B) 199 

 (C) 200              (D) 201 

2- log(  √    ) + log .
 

  √    
/ dk 

eku gksxk & 

 (A) 1   (B) 0 

 (C) 2              (D) 1@2 

3- lEcU/k R = {(1, 1), (2, 2), (3, 3), (1, 2), 

(2, 3),(1, 3)} leqPp; A = {1, 2, 3} ij gS 

,d leqPp; tks& 

 (A) LorqY;] laØed rFkk lefer ugha  

 (B) LorqY;] lefer ijUrq laØed ugha 
 (C) lefer] laØed rFkk LorqY; ugha              

 (D) LorqY; ijUrq u lefer vkSj u laØed 

4- ,d ijh{kk esa 100 Nk=ksa esa ls 75 vaxzsth esa ikl 

gq,] 60 xf.kr esa ikl gq, rFkk 45 vaxzsth rFkk 

xf.kr nksuksa esa ikl gq,A rks dsoy ,d esa ikl gksus 

okys Nk=ksa dh la[;kA 

 (A) 45   (B) 60 

 (C) 75              (D) 90 

5- .
  √ 

   √ 
/
   

+.
  √ 

  √ 
/
   

+ 1dk eku gksxkA 

 (A) -1   (B) 0 

 (C) 1              (D) 2 

6- ;fn lehdj.k   + kx + 64 = 0 rFkk   - 8x 

+ k = 0 ds nks okLrfod ewy gSa rks k dk eku 

gksxk&  

 (A) 4   (B) 8 

 (C) 12              (D) 16 

7- Jsf.k;k¡ 2 $ 6 $ 10 $ -------- rFkk 1 $ 6 $ 

11 $ ------ ds 10osa mHk;fu"B in D;k gksxk \ 

 (A) 180   (B) 186 

 (C) 196              (D) 206 
8- 1000 rFkk 10000 ds chp fdrus iw.kkZd gksxs 

ftuds vad 4]5]6 ds vfrfjDr u gks \ 

 (A) 91   (B) 51 

 (C) 81              (D) 71 

 

 



 

 

3 

9.          =           then r is equal 

to. 
(A) 4     (B) 5     (C) 6 (D) 4 

10. In four scholls          and     the 

percentage of girl students is 12, 20, 13 

and 17 respectively. From a school, 

selected at random, one student is 

picked up at random and it is found 

that the student is a girl. The 

probability, that the school selected 

    is. 

(A) 
 

  
    (B) 

  

  
     (C) 

  

  
 (D) 

  

  
 

11. For a binomial distribution B(n, p), np 

= 4 and variange npq = 
 

 
. What is the 

probability P (x ≥ 5) equal to ? 

(A) .
 

 
/
 
   (B) 

  

  
      (C) .

 

 
/
 
   (D) 

  

  
 

12. What is the coefficient of    in the 

expansion of .
   

   
/
 

 

(A) -16    (B) 16       (C) 8 (D) -8 

13. If the inverse of [
   
   
   

] is 

[
     
   
   

]  then what is then what 

is the value of x ? 

(A) 1   (B) zero 

(C) -1   (D) 
 

 
 
 

 
 

14. If 5 and 7 are the roots of the equation 

|
   
   
   

| = 0, then what is the third 

root ?  

(A) -12  (B) 9 

(C) 13  (D) 14 

15. Domain of the function f(x) = exp 

(√        ) is. 
(A) [3/2,∞]  (B) [1, 3/2] 

(C) (-∞   ]             (D) (1, 3/2) 

 

9-      =          gS rks r dk eku crkb,A 

 (A) 4   (B) 5 

 (C) 6              (D) 7 

10- pkj fo|ky;ksa         rFkk     esa 

ckfydkvksa dk izfr"kr Øe"k% 12] 20] 13 rFkk 17 

gSA buesa ls ,d fo|ky; dks pquk tkrk gS vkSj 

,d Nk= dks fy;k tkrk gS vkSj ;g ns[kk tkrk gS 

fd og Nk= ,d yM+dh gSA bl ckr dh D;k 

izkf;drk gksxh fd pquk x;k fo|ky;    gS% 

 (A) 
 

  
   (B) 

  

  
 

 (C) 
  

  
              (D) 

  

  
 

11- ,d f}in caVu B(n, p) esa np = 4 rFkk npq = 

4/3. rks izkf;drk P (x ≥ 5) dk eku gksxk \ 

(A) .
 

 
/
 

  (B) 
  

  
 

(C) .
 

 
/
 

  (D) 
  

  
 

12- .
   

   
/
 
ds foLrkj esa    dk xq.kkad D;k gksxk \ 

 (A) -16   (B) 16 

 (C) 8              (D) -8 

13- ;fn [
   
   
   

] dk O;qRØe [
     
   
   

] rks 

dk eku gksxk \ 

 (A) 1   (B) 'kwU; 

 (C) -1              (D) 
 

 
 
 

 
 

14- ;fn 5 rFkk 7 lehdj.k |
   
   
   

|   ds ewy 

gSa] 

 (A) -12   (B) 9 

 (C) 13              (D) 14 
15- Qyu f(x) = exp (√        ) dk izkar gS 

 (A) [3/2,∞]  (B) [1, 3/2] 

 (C) (-∞   ]             (D) (1, 3/2) 
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16. If f(x) = 
  

   
 ,   -1, for what value of a 

is (f(x)) = x ? 

(A) √   (B)  √  

(C) 1   (D) none of these 

17.       .
     

     
/
   

 is equal to 

(A) 0   (B) 1 

(C)     (D)    

18.       
(       )      

       
equals 

(A) 10/3  (B) 3/10 

(C) 6/5  (D) 5/6 

19. Derivative of      {
 

     
} w.r.t. 

√     at x = - 
 

 
 is. 

(A) 1   (B) 
 

 
 

(C) 
 

 
   (D) doesn't exist 

20. The maximum value f(x) = 
 

          
 

of on [-1,1] is. 

(A) -1/4  (B) -1/3 

(C) 1/6  (D) 1/5 

21. A spherical iron ball 10 cm in radius is 

coated with a layer of ice of uniform 

thickness that melts at a rate of 

50           When the thickness of 

ice is 5 cm, then the rate at which the 

thickness of ice decrea-ses, is 

(A) 
 

   
 cm/min. (B) 

 

  
 cm/min. 

(C) 
 

   
 cm/min. (D) 

 

   
 cm/min.1 

22. The value of is ∫   logxdx - 

(A) 
 

 
 ,            -   

(B) 
 

  
 *            + 

(C) 
      

 
 + C    

(D) 
 

  
 *            + 

16- ;fn f(x) = 
  

   
 ,   -1, a ds fdl eku ds fy;s 

(f(x)) = x? 

(A) √    (B)  √  
 (C) 1              (D) blesa ls dksbZ ughA 

17-       .
     

     
/
   

 dk eku crkb,A 

 (A) 0   (B) 1 

 (C)                 (D)    

18-       
(       )      

       
 cjkcj gS& 

 (A) 10@3  (B) 3@10 

 (C) 6@5              (D) 5@6 

19-      {
 

     
} dk vodyu √     ds 

lkis{k fcUnq x = - 
 

 
 ij gksxkA 

 (A) 0   (B) 
 

 
 

 (C) 
 

 
              (D) vfLrRo esa ugha gS 

20- f(x) = 
 

          
 dk mfPp"B eku vUrjky   

[-1,1] esa gS 

 (A) -1/4   (B) -1/3 

 (C) 1/6              (D) 1/5 

21- ,d yksgs dh xsan ftldh f=T;k 10 cm gS] ,d 

leku cQZ dh eksVkbZ okyh ijr dks <dh gSA 

ftlds fi?kyus dh nj 50           gSA tc 
cQZ dh eksVkbZ 5 cm gS rc cQZ dh eksVkbZ fi?kyus 

dh nj gS 

(A) 
 

   
 cm/min. (B) 

 

  
 cm/min. 

(C) 
 

   
 cm/min. (D) 

 

   
 cm/min.1 

22- ∫   logxdx dk eku cjkcj gS% 

(A) 
 

 
 ,            -  

(B) 
 

  
 *            + 

(C) 
      

 
 + C    

(D) 
 

  
 *            +  
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23. ∫    (logsinx+cotx)dx is  equal to: 

(A)    cotx + C  

(B)    logsinx + C 

(C)    log sinx + tanx + C   

(D)    +sinx + C 

24. ∫ |  |
 

 
dx is equal to 

(A) 2- √   (B) 2 + √  

(C) √  -1  (D) - √  - √  + 5 

25. The area bounded by the Parabola     

   = x straight line y = 4 and y – axis 

is- 

(A) 16/3  (B) 64/3 

(C) 7√   (D) None of these 

26. The degree of the differential equation 

   

   
 ¾ 

    
  

  

√ 
  

   

 is  

(A) 2   (B) 3 

(C) 4   (D) 
 

 
 

27. Solution of is x 
  

  
 + y =     

(A) xy =    (x + 1) + C    

(B) xy =    (x - 1) + C 

(C) xy =    (x - 1) + C    

(D) xy =    (y - 1) + C 

28. What is the value of 
         

        
 ? 

(A) 1   (B) 1/√  

(C) 1/√   (D) √  

29.                    is equal to. 

(A) 1/16  (B) 1/32 

(C) 1/8  (D) 1/4 

30. What is the value of    {     
 

 
 

     
  

  
}? 

(A) 
  

  
  (B) 

  

  
 

(C) 
  

  
   (D) 

  

  
 

23- ∫    (logsinx+cotx)dx cjkcj gS& 

(A)    cotx + C  

(B)    logsinx + C 

(C)    log sinx + tanx + C   

(D)    +sinx + C 

24- ∫ |  |
 

 
dx cjkcj gSA 

(A) 2- √   (B) 2 + √  

(C) √  -1  (D) - √  - √  + 5 

25- ijoy;    = x lh/kh js[kk   = 4 rFkk y- v{k 

}kjk f?kjk {ks=QyA 

 (A) 16@3  (B) 64@3 

 (C) 7√              (D) buesa ls dksbZ ugha 
26- vody lehdj.k dh ?kkr crkb,           

   

   
 ¾ 

    
  

  

√ 
  

   

 

 (A) 2   (B) 3 

 (C) 4              (D) 
 

 
 

27- x 
  

  
 + y =     dk dy gksxkA 

(A) xy =    (x + 1) + C    

(B) xy =    (x - 1) + C 

(C) xy =    (x - 1) + C    

(D) xy =    (y - 1) + C 

28- 
         

        
 dk eku D;k gksxk & 

(A) 1   (B) 1/√  

(C) 1/√   (D) √  

29-                    cjkcj gS& 

 (A) 1/16   (B) 1/32 

 (C) 1/8              (D) 1/4 

30-    {     
 

 
      

  

  
} dk D;k eku gS\ 

(A) 
  

  
  (B) 

  

  
 

(C) 
  

  
   (D) 
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31. In a triangle a = √  + 1, B =    , C = 

    . What is the value of side c ? 

(A) (√  + 1) / 2 (B) 1 

(C) √   (D) 2 

32. If two vertices of an equilateral 

triangle are (0, 0) and (0,2  √ )  then 

the third vertices are. 

(A) (±3,±  √ ) (B) (3,±  √ ) 

(C) (±3, √ ) (D) none of these 

33. If points (   
      ), (   

      ) and (a, 

0) are collinear, then value of      is- 

(A) -1   (B) -2 

(C) 2   (D) none of these 

34. Number of common tangents of the 

circles                   

&                   is- 

(A) 0   (B) 1 

(C) 2   (D) 4 

35. The equation of the ellipse whose latus 

– rectum is 4 and is e = 
 

√ 
 given by- 

(A)                 

(B)              

(C)                

(D) None of these 

36. If  ⃗   ̂   ̂   ̂  and  ⃗   ̂   ̂   ̂ then 

the projection of   ⃗  on  ⃗  is. 

(A) √   (B) 
 

√ 
 

(C) 
 

√ 
  (D) 

√ 

 
 

37. Lines 
   

 
 = 
   

 
 = 
   

  
 and  

   

 
 = 
   

 
 

= 
   

 
 are coplanar, if: 

(A) k = 2  (B) k = 4 

(C) k = 3  (D) k = 1 

38. Distance between two parallel planes  

2x + y + 2z = 8 and 4x + 2y + 4z + 5 is 

- 

(A) 3/2  (B) 5/2 

(C) 7/2  (D) 9/2 

 

31- ,d f=Hkqt esa triangle a = √  + 1, B =    , 

C =     . Hkqtk c dk eku gksxk \ 

(A) (√  + 1) / 2 (B) 1 

(C) √   (D) 2 

32- ;fn fdlh leckgq f=Hkqt ds nks 'kh"kZ ¼0]0½ rFkk 

(0,2  √ )  gS rks rhljk 'kh"kZ gksxk & 

 (A) (±3,±  √ ) (B) (3,±  √ ) 

 (C) (±3, √ )        (D) buesa ls dksbZ ugha 
33- ;fn fcUnq (   

      ), (   
      ) rFkk (a, 0)  

lajs[k gks rks      gksxkA 
 (A) -1   (B) -2 

 (C) 2              (D) buesa ls dksbZ ugh 
34- o`Rr                   rFkk 

                  dh 

mHk;fu"B Li"kZ js[kkvksa dh la[;k gksxhA 

 (A) 0   (B) 1 

 (C) 2              (D) 4 

35- nh?kZo`Rr dk lehdj.k ftldk ukfHkyEc 4 rFkk e 

= 
 

√ 
 gS gksxk& 

(A)                 

(B)              

  (C)                        

 (D) buesa ls dksbZ ugha 

36- ;fn  ⃗   ̂   ̂   ̂ rFkk  ⃗   ̂   ̂   ̂ rks  ⃗  

dk  ⃗  ij iz{ksi gksxk% 

(A) √   (B) 
 

√ 
 

(C) 
 

√ 
  (D) 

√ 

 
 

37- js[kk 
   

 
 = 
   

 
 = 

   

  
 vkSj 

   

 
 = 
   

 
 = 

   

 
 leryh; gS] ;fn & 

(A) k = 2  (B) k = 4 

(C) k = 3  (D) k = 1 

38- nks lekUrj leryksa 2x + y + 2z = 8 vkSj 4x + 

2y + 4z + 5 = 0 ds chp dh nwjh gS& 

 (A) 3/2   (B) 5/2 

 (C) 7/2             (D) 9/2 
 

  



 

 

7 

39. The mean height of 15 students is 154 

cm. It is discovered later on that while 

calculating the mean the reading 175 

cm was wrongly read as 145 cm. The 

correct mean height is- 

(A) 145 cm  (B) 170 cm 

(C) 156 cm  (D) None of these 

40. If for the variables x and y, the two 

regression lines are 3x + 2y – 25 = 0 

and 6x + y -30 = 0, then he coefficient 

of correlation r is equal to- 

(A) 0.5  (B) -0.5 

(C) 0.6  (D) -0.6 

41. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

42. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

43. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

44. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

39- 15 Nk=ksa dh vkSlr Å¡pkbZ 154 lseh- gSA ckn esa 

;g Kkr gksrk gS fd vkSlr Kkr djus esa 175 

lseh- dks xyr i<+k x;k gS 145 lseh- ds :i esaA 

lgh vkSlru Å¡pkbZ gksxh&  

 (A) 145 lseh-  (B) 170 lseh- 
 (C) 156 lseh-             (D) buesa dksbZ ugha 
40- ;fn nks pjksa x rFkk y gsrq] nks lekJ;.k js[kk,¡ 

3x + 2y – 25 = 0 rFkk 6x + y –30 = 0 rks 

lglEcU/kksa dk xq.kkad gksxk & 

 (A) 0-5   (B) &0-5 

 (C) 0-6              (D) &0-6 
41- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

42- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

43- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

44- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
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45. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

46. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

47. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

48. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

49. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

50. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

45- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

46- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
47- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

48- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

49- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

50- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
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51. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

52. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

53. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

54. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

55. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

56. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

51- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

52- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
53- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

54- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

55- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

56- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
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57. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

58. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

59. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

60. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

61. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

62. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

57- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

58- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
59- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

60- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

61- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

62- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
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63. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

64. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

65. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

66. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

67. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

68. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

63- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

64- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
65- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

66- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

67- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

68- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
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69. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

70. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

71. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

72. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

73. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

74. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

69- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

70- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
71- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

72- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

73- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

74- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
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75. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

76. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

77. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

78. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

79. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

80. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

75- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

76- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
77- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

78- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

79- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

80- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
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81. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

82. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

83. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

84. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

85. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

86. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

81- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

82- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
83- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

84- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

85- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

86- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
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87. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

88. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

89. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

90. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

91. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

92. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

87- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

88- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
89- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

90- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

91- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

92- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
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93. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

94. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

95. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

96. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

97. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

98. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

93- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

94- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
95- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

96- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

97- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

98- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 
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99. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

100. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

101. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

102. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

103. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

104. 1 

(A) 1   (B) 1 

(C) 1   (D) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

99- 1 

 (A) 1   (B) 1 

 (C) 1              (D) 1 

100- 1 
 (A) 1   (B) 1 

 (C) 1              (D) 1 
101- 1 
 (A) 1   (B) 1 

 (C) 1              (D) 1 

102- 1 
 (A) 1   (B) 1 

 (C) 1              (D) 1 

103- 1 
 (A) 1   (B) 1 

 (C) 1              (D) 1 

104- 1 
 (A) 1   (B) 1 

 (C) 1              (D) 1 

 

 

 

 

(1) 

https://www.youtube.com/watch?v=Cq

EZZiP7CRY&list=RDCMUCdj90_1R

El- 

(2) 

8VzxhhwidjAA&start_radio=1&rv=C

qEZZiP7CRY&t=7298  

https://www.youtube.com/watch?v=CqEZZiP7CRY&list=RDCMUCdj90_1REl-
https://www.youtube.com/watch?v=CqEZZiP7CRY&list=RDCMUCdj90_1REl-
https://www.youtube.com/watch?v=CqEZZiP7CRY&list=RDCMUCdj90_1REl-
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ANSWERS 

1 A 21 B 41 A 61 B 81 C 101 B 121 A 141 B 

2 C 22 D 42 B 62 A 82 B 102 C 122 D 142 B 

3 B 23 A 43 C 63 D 83 C 103 A 123 C 143 B 

4 B 24 C 44 C 64 C 84 B 104 B 124 C 144 C 

5 A 25 D 45 D 65 C 85 A 105 C 125 C 145 B 

6 C 26 B 46 C 66 B 86 B 106 A 126 B 146 B 

7 D 27 B 47 D 67 C 87 A 107 D 127 C 147 C 

8 D 28 C 48 B 68 C 88 B 108 A 128 C 148 C 

9 D 29 D 49 C 69 C 89 C 109 A 129 B 149 C 

10 A 30 B 50 A 70 A 90 B 110 C 130 A 150 B 

11 A 31 B 51 A 71 C 91 D 111 A 131 B   

12 A 32 A 52 A 72 C 92 B 112 D 132 C   

13 D 33 B 53 C 73 A 93 A 113 C 133 C   

14 C 34 D 54 B 74 C 94 C 114 C 134 A   

15 A 35 C 55 D 75 C 95 B 115 B 135 A   

16 C 36 A 56 A 76 A 96 B 116 B 136 D   

17 A 37 C 57 A 77 C 97 D 117 C 137 B   

18 B 38 D 58 A 78 A 98 C 118 A 138 B   

19 A 39 D 59 A 79 C 99 C 119 B 139 A   

20 B 40 D 60 A 80 A 100 B 120 C 140 B   

 

 

 

 

 

 

 

 


